' GROUP 4 HYDRAULIC SYSTEM

HYDRAULIC COMPONENTS MOUNTING 1

Solenoid valve

5>~Drain filter
SN

Wain control valve

+— Hydraulic tank

Bracket-MCV mtg

. T Swing motor

Main pump
housing

3309S9CM05

- Tightening torque

ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 1.05£0.2 7.6£1.45 6 M20x2.5 42145 304+32.5
2 M10x1.5 48*0.3 34.7*22 7 M20x2.5 46+5.1 333+36.9
3 M10Xx1.5 6.9T14 49.9110.1 8 M20x2.5 465125 336+18.1
4 M12x1.75 12.311.3 88.9194 9 M20x2.5 58.416.4 4221462
5 M12x1.75 12.8£3.0 925216 10 M20x2.5 57.9*8.7 4191+62.9

9-6




HYDRAULIC COMPONENTS MOUNTING 2

Double acting attachment piping

D/acting,

hose joi

3 way joint

D/actin

Travel motor(RH)

‘“——Turning joint

Travel motor(LH)

3009S9CM06

- Tightening torque

ltem Size kgf - m Ibf - ltem Size kgf - m Ibf - #t
1 M 8Xx1.25 4.05T0.8 29.3T5.8 4 | M12X1.75 12.83.0 92.6+21.7
2 | M10X15 69714 49.9710.1 5 | M14X2.0 19.612.9 1421+20.9
3 | M12x175 | 123£1.3 88.9179.4 6 M24 X 3.0 8418.0 7231723

9-7




HYDRAULIC COMPONENTS MOUNTING 3

BOOM CYLINDER

ARM CYLINDER BUCKET CYLINDER
3309S9CM07
- Tightening torque
[tem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M10Xx1.5 32103 23.1*2.2 5 M16Xx2.0 23120 166Lt14.5
2 M 8%x1.25 27*0.3 19522 6 M18x2.5 32*t3.0 232+21.7
3 M12X1.75 55*0.6 39.8+4.3 7 M20x2.5 46*5.0 333+36.2
4 M12Xx1.75 94%10 68.0£7.2

9-8



